
����� 3 

��	�
��
���ก������� 
 

 ก����ก���	
��
�ก����ก�������������������� (Correlational Study Design) ��,-.��ก��
�������������/��0���122�340�� 5 ก�6ก��7,-����,-.�7,-�8.9ก.:.9�;��/3/8�ก<.���ก��	3���3
���3���ก��4.�4=� .>��?.6���
>����	
3� 2�����7@/�����A�� 
 

�����ก���������ก������� 
 ��/��ก�;�ก����2�3���
��	
�,. ��ก��	3���3�/7�6���3���ก���BA	- 1-3 A	-ก>�9����ก��.3F0;�
G����	3����3���ก��89/G����	3���/H���ก��<3�3G.ก�� ;��<4.>��?.6���
>����	
3� 2�����7
@/�����A�� 2>���� 1,411 �� 
  

ก������������ ��ก��!����"#��
#��ก������������ 
 ก9K0�4��.30����
���ก��	3���3�/7�6���3���ก���BA	- 1-3 ก>�9����ก��.3F0;�G����	3�
���3���ก��89/G����	3���/H���ก��<3�3G.ก�� ;��<4.>��?.6���
>����	
3� 2�����7@/�����A�� 
�0���Bก����ก�� 2553 2>���� 440  �� O�-�P7=2�กก���>���Q<��74��.30��7=�3�F4�A	-;�=;�ก��
�>���2��,-.ก����/��Q��7�0�� (Parel et al., 1973) 
 �กQV�ก����7�9,.ก�<=�ก9K0�4��.30�� ��/ก.67=�3 (1) ��
���ก��	3�A	-P�07,-���,.7,-�
���,-.�7,-�8.9ก.:.9�;��/3/8�ก (2) ��
�WF=�	�K<?��7	P�0�	G��A	-��
��1X��40.ก��7,-����,-.�7,-�
8.9ก.:.9� 

ก���>���Qก9K0�4��.30��       n =        NZ2
α/2.

 p(1-p) 
                                                                       

                                                                         Nd2 + Z2
α/2.

 p(1-p) 
 
 n = <��74��.30��A	-;�=��ก��;����
��	
 

 Z = �0��H�4���4�_��;4=G�=��ก4�A	-�/7�6��3�>���XA	-ก>���7 (α 0.05; Z0.025 = 1.96)  

 N = <��7��/��ก�A	-��
���ก��	3���3�/7�6���3���ก���BA	- 1-3 2>���� 1,411  �� 
 p = ��7�0��<.��3����PA3;��H����ก��A	-7,-����,-.�7,-�8.9ก.:.9�;�ก����ก����2�3
���
��	
P7=2�กก���>�W9ก����ก��ก���bc��/����d4�ก���ก��6��G?����,-.�7,-�8.9ก.:.9�89/
�d4�ก�����	-3�40.�K<?��<.���ก��	3����3�;���/�A�PA3O�-���
�ก����ก��;��/7�6��/�A� 
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<.�����4�	 .��Q����ก���3 89/�Q/ (2551) 89/�6�0� ก9K0���ก��	3���3���3���ก��4.�4=�  
(�.1 89/ �.3) �	ก��7,-����,-.�7,-�8.9ก.:.9� �=.39/  21.5 ;��.6 1 �7,.�A	-W0���� 2��ก>���7;�=
�0� p = .21 
 
 d = �0������9�7��9,-.���6F�Q�<.�ก9K0�4��.30��A	-3.���6P7= 5% 
                                                                              1,411 x (1.96)2  x .21(1-.21) 
                                                             n       =                                                                      
                                                                              1,411(.05)2 + (1.96)2 x .21(1-.21) 
                                                                     =       400 
 
  2�กก��8A��0��F4�2/P7=ก9K0�4��.30�� 2>����  400  �� ���3�����0�2>������/��ก�
A	-�=.3A	-�K7;�ก����ก�����
��	
�,. 400 �� 840��,-.�c.�ก��ก���FX��3<.�ก���กg6<=.�F92���>���Q
�W,-.ก���FX��3.	ก�=.39/ 10 (Lemeshow, Hosmer, Klar, & Lwanga, 1990)  7����
�ก9K0�4��.30�� 
;�ก���กg6<=.�F9;����
��	
2�� �A0�ก�6 440 ��  
 ��	�ก��$����������� 
 �K0�4��.30��866�9�3<�
�4.�G73�	��39/�.	37 7���	
 
 <�
�4.�A	- 1  G����	3�;��,
�A	-.>��?.6���
>����	
3�860�..ก��
� G����	3�A	-.3F0;��<4
�A�6�989/G����	3�A	-.3F0�.ก�<4�A�6�9 G����	3�A	-.3F0;��<4�A�6�9��/ก.67=�3 G����	3�
���3���ก�� 2>���� 2 8�0� 89/G����	3���/H���ก��<3�3G.ก�� 2>���� 4 8�0� G����	3�A	-.3F0
�.ก�<4�A�6�9��/ก.67=�3 G����	3����3���ก��  2>���� 2 8�0� 89/G����	3���/H���ก�� 
<3�3G.ก�� 2>���� 12 8�0� 2�ก��
��K0�4��.30��866�0�3 (Simple Random Samping) 2>���� 
�=.39/ 50 <.�G����	3�A�
���7A�
�;��<489/�.ก�<4�A�6�9 P7=G����	3�A	-��
�ก9K0�4��.30��
A�
���
� 10 8�0� 

<�
�4.�A	- 2  �>���Q2>����ก9K0�4��.30��<.�8409/G����	3�4����7�0��<.�2>����
��/��ก���ก��	3���3A�
���7;�8409/G����	3�A	-�K0�P7=  

<�
�4.�A	- 3  �K0�4��.30��.30����
��/662�ก6�X�	��3�,-. (Systemic Random Samping)   
;�=P7=ก9K0�4��.30��;�8409/��
���	3� (��
� �.1-�.3 ) 2�P7=4��.30����64��2>����A	-�>���QP�= 
;�8409/G����	3� 
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4���� 1 2>����ก9K0�4��.30��2>�8�ก4��G����	3� (n = 440) 
 

 ������ ������        ������        ������        ������      
%��
���� �����ก� ก������������ ก������������ ก������������ ก������������ 

  ��&�'�
 ��&���	�� 1 ��&���	�� 2 ��&���	�� 3 

��
#�
�*���      
�.�.���3� 1   323      170 58 56 56 
�.�.��/H�<3�3G.ก�� 1             41        22          7          8          7 
�.�.��/H�<3�3G.ก�� 2             37        19          3          8          8 
��ก
#�
�*���      
�.�.���3� 1   159        84 25 30 29 
�.�.��/H�<3�3G.ก�� 1             36        19          5          5          9 
�.�.��/H�<3�3G.ก�� 2             30        16          3          6          7 
�.�.��/H�<3�3G.ก�� 3             60        31 12          9 10 
�.�.��/H�<3�3G.ก�� 4             30        16          7          6          3 
�.�.��/H�<3�3G.ก�� 5             68        36 12 13 11 
�.�.��/H�<3�3G.ก�� 6             52        27          9          9          9 

���    1,026      440      142      150      148 
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��. �.1 
 

��. �.2 
 

��. �.3 
 
?��A	- 2 <�
�4.�ก���K0�4��.30�� 

 
 
 
 
 
 

G����	3�A	-�	��ก��	3���3�/7�6���3���ก���BA	- 1- 3 

;�.>��?.6���
>����	
3�  2�����7@/�����A�� 

;��<4�A�6�9 �.ก�<4�A�6�9 

�.�.���3� 

2 8�0� 
�.�.��/H�<3�3
G.ก�� 4 8�0� 

�.�.���3� 

2 8�0� 
�.�.��/H�<3�3
G.ก�� 12 8�0� 

�.�. 
170 

�.�. 
22 

�.�. 
19 

�.�. 
84 

�.�. 
16 

�.�. 
19 

�.�. 
16 

�.�. 
31 

�.�. 
36 

�.�. 

27 

58 

56 

56 

7 

8 

7 

3 

8 

8 

25 

30 

29 

5 

5 

9 

3 

6 

7 

12 7 12 9 

9 6 13 9 

10 3 11 9 
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!�+����+���������ก������� 
 ���,-.��,.A	-;�=;�ก���กg6��6���<=.�F9���
��	
��
�866�.6H��A	-;�=ก9K0�4��.30�� 
4.6�.� ��/ก.67=�3 866�.6H��2�ก�����2�3A	-W0���� 89/866�.6H��A	-WF=��2�3��/3Kก4�89/
��r��<�
��.� G73�	<=.�>�H�� 2>����  97  <=. 860�..ก��
� 4 �0�� 7���	
 
 �0��A	- 1  866�.6H��<=.�F9�0��6K��9 ��
�866�9,.ก4.689/�4���>� ��0� .�3K �/7�6
ก����ก�� ����� W9���dA��sA��ก����	3� 2>����  9  <=. 

�0��A	- 2 866�.6H��A����4�40.ก��7,-����,-.�7,-�8.9ก.:.9� ��7G73;�=<=.�>�H��<.�
Homsin (2006, .=��H��;� ���?� �.�����K� 89/�K0���4�� ��	�K��3�����, 2552) O�-���r����2�ก
8����7<.� Weber (1992, .=��H��;� ���?� �.�����K� 89/�K0���4�� ��	�K��3�����, 2552) A	-��,-.�0�
A����4�<.�6K��940.��-����-���-�;7��/ก.67=�3 3 .�����/ก.6 P7=8ก0 �����F=�����<=�;2 
(Cognitive) �����F=��ก (Affective) 89/ก���y�6�4� (Behavioral) �	9�ก�Q/��4���7��
�8669������A 
(Likert Scales) 2>���� 24 <=.�>�H�� 860���
� 4 �/7�6�,. �,. ��g�7=�3.30��3�-� ��g�7=�3 P�0��g�7=�3 
P�0��g�7=�3.30�� ��
�<=.�>�H������6�ก 11 <=. 89/ <=.�>�H������96 13 <=.  

 
�กQV�ก��;�=�/8�� 

                                 �/8��<=.��������6�ก �/8��<=.��������96 
  ��g�7=�3.30��3�-�   4   1 
  ��g�7=�3    3   2 
  P�0��g�7=�3                   2   3 
  P�0��g�7=�3.30��3�-�  1   4 
        ก��8�9W9 
  ��g�7=�3ก�6ก��7,-����,-.�7,-�8.9ก.:.9�      ���3H�� �/8����กก�0���,.�A0�ก�6 
                                                                                                          �0��/8���@9	-3<.�ก9K0� 
             P�0��g�7=�3ก�6ก��7,-����,-.�7,-�8.9ก.:.9�  ���3H�� �/8���=.3ก�0��0��/8���@9	-3 
                                                                                                          <.�ก9K0� 
 
 �0��A	- 3  866�.6H����,-.�4=�AK��	��4<.���3�K0� ��
�866�.6H���9�3�|7A	-P7=
7�78�9���2�ก�����2�3<.� Murphey et al. (2004) G73 �K��3�7� A�	��4	 (�.�.�. <) ��/ก.67=�3
�>�H�� 48 <=. P7=8ก0 �9��4��4� 15 <=. (<=. 1-15) �9����.6���� 8 <=. (<=. 16-23) �9����=���1XX� 
11 <=. (<=. 24-34) �9����,-.�89/ก�2ก��� 6 <=. (<=. 35-40) 89/�9���K��� 8 <=. (<=. 41-48)  
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G73866�.6H����
�866��/�����0� (Rating Scale) 4 �/7�6�,.�y�6�4���
���/2>� 60.3���
� 
6�����
� 89/P�0�93  
  
 �กQV�ก��;�=�/8�� 
                ��
���/2>�  �0��/8���A0�ก�6 3 �/8�� 
  60.3���
�               �0��/8���A0�ก�6 2 �/8�� 
  6�����
�           �0��/8���A0�ก�6 1 �/8�� 
    P�0��3                 �0��/8���A0�ก�6 0 �/8�� 
 ก��8�9W9 (�K��3�7� A�	��4	, �.�.�. <) 
  P�0W0���กQV� ���3H�� �/7�64=�AK��	��4.3F0;��กQV��0.�<=���=.3 - ���ก9��  

                                                          (�/8�� ≤ 60%)             
   W0���กQV�     ���3H�� �/7�64=�AK��	��4.3F0;��กQV�7	 - 7	��ก (�/8�� > 60 %)      
          

�0��A	- 4 866�.6H���ก	-3�ก�6ก��7,-����,-.�7,-�8.9ก.:.9�   
     4.1 866�.6H��ก��7,-����,-.�7,-�8.9ก.:.9� 2>���� 6 <=. ��/ก.67=�3�>�H�� 
ก��7,-����,-.�7,-�8.9ก.:.9� O�-���/3Kก4�2�ก866�.6H��<.� Homsin (2006, .=��H��;� ���?� 
�.�����K� 89/�K0���4�� ��	�K��3�����, 2552) ��
��>�H��866;�=�9,.ก4.6 4 4���9,.ก P7=8ก0 (1) P�0��3
7,-����,-.�7,-�A	-�	8.9ก.:.9��938�=840��	3����
��7	3���,.��	3�8�02�6�A0���
� (2) ��3A79.�7,-�
���,-.�7,-�8.9ก.:.9���	3����
��7	3��A0���
� (3) 7,-����,-.�7,-�8.9ก.:.9���
����
�����4��G.ก��  
(4) 7,-����,-.�7,-�8.9ก.:.9���
���/2>���->����. .30���=.3A	-�K7���7���9/���
� G73WF=A	-�9,.ก4.6 
(1)-(3) 2/H,.�0�7,-����,-.�7,-�8.9ก.:.9�;��/3/8�ก �.ก2�ก�	
3���	<=.�>�H���ก	-3�ก�6 .�3KA	-���-�7,-�
���
�8�ก �����QA	-7,-� ��/�?A<.����,-.�7,-� WF=A	-7,-�7=�3 89/��4K2F�;2;�ก��7,-����
�8�ก 
                    4.2 866�.6H���ก	-3�ก�6ก���<=�H�����,-.�7,-�8.9ก.:.9� O�-�WF=��2�3��/3Kก4�2�ก
866�.6H��<.� 6KX����� �K4/8�A3� 89/�Q/ (2547) ��
��>�H��866;�=�9,.ก4.6 G73�	
�>�4.6;�=�9,.ก 2 4���9,.ก �,. 2���89/P�02��� 2>����  10  <=. ��/ก.67=�3<=.�>�H���ก	-3�ก�6 
�����/7�ก;�ก��O,
.���,-.�7,-�8.9ก.:.9� ก���<=�H��8�90�2>���0�3���,-.�7,-�8.9ก.:.9� 89/ 
ก��P7=��<.����,-.�7,-�8.9ก.:.9�    
 
  �กQV�ก��;�=�/8��   
  2���   �0��/8���A0�ก�6 1 �/8�� 
  P�02���             �0��/8���A0�ก�6 0 �/8�� 
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  ก��8�9W9 
  �<=�H�����,-.�7,-�8.9ก.:.9�P7=�0�3   ���3H��  �/8����กก�0���,.�A0�ก�6 
                �0��/8���@9	-3<.�ก9K0� 
  �<=�H�����,-.�7,-�8.9ก.:.9�P7=3�ก   ���3H��  �/8���=.3ก�0��0��/8���@9	-3 
                                                                                               <.�ก9K0� 
 

ก������$��!�",�-
!�+����+� 
 1. ก��������4��4����,
.�� (Content Validity) WF=��2�3�>����,-.��,.A	-��=��<�
�P���6 
ก��4��2����4��<.���,
.�� 2�กWF=��	-3���X2>���� 5 A0�� ��/ก.67=�3 .�2��3���/2>���<�����
ก���3�6�9WF=;�X0 .�2��3���/2>���<�����ก���3�6�9�K<?��2�489/2�4��� .�2��3���/2>�
��<�����ก���3�6�9�K��� �Q/�3�6�9���4�� �����A3�9�36F��� .�2��3���/2>���<����� 
�K<��ก�� �Q/�����Q�K<���4�� �����A3�9�36F��� 89/�����=��F�3�;�=�>����ก���1X���K<?�� 
G���3�6�9��,.�@/�����A�� 2�����7@/�����A�� 
 2. ก�����0�������,-.��-�<.����,-.��,. (Reliability) 866�.6H��A	-W0��ก��4��2�.6
89/8ก=P<���6��K�4��<=.���.8�/<.�WF=��	-3���X 89=�HFก�>�P�A79.�;�= (Try Out) ก�6��ก��	3�
���3���ก��4.�4=�A	-�	�KQ��6�4�89/�?��8�79=.��9=�3�9��ก��ก�6��/��ก�A	-��ก����กA	-�K7  
�,.G����	3�6���/ก� �6����A3�3�� 2>���� 30 ��89=� �>����������A	-3�<.����,-.��,.7=�3 
���	��.�6��8.9�� (Cronbach�s Alpha Coefficicient) O�-�W9ก��������/��P7= 7���	
 
  2.1 866�.6H��A����4�40.ก��7,-� �0�������,-.��-� �A0�ก�6  0.74 
    ���,-.�7,-�8.9ก.:.9� 
  2.2 866�.6H����,-.�4=�AK��	��4<.���3�K0�G73���   �0�������,-.��-�   �A0�ก�6  0.93  
    2.2.1 7=���9��4��4�                                             �0�������,-.��-�   �A0�ก�6  0.83              
                        2.2.2 7=���9����.6����                                      �0�������,-.��-�   �A0�ก�6  0.85 
                           2.2.3 7=���9����=���1XX�                                    �0�������,-.��-�   �A0�ก�6  0.82 
                           2.2.4 7=���9����,-.�89/ก�2ก���                         �0�������,-.��-�    �A0�ก�6  0.70              
                           2.2.5 7=���9���K���                                             �0�������,-.��-�   �A0�ก�6  0.75 
  2.3 866�.6H���ก	-3�ก�6ก���<=�H��  �0�������,-.��-� �A0�ก�6  0.73  
   ���,-.�7,-�8.9ก.:.9� 
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ก��
ก.�������#���/� 
 ก����ก����2�3���
��	
WF=��2�37>�����ก���กg6<=.�F94��<�
�4.� 7���	
 

 1. ���.G����0����A3����������.40.�Q/ก���ก����2��Q�2��3����ก����2�3<.� 
�Q/�3�6�9���4�� �����A3�9�36F��� ��,-.<.��6ก����2��Q�2��3����ก����2�3 
 2. 4�740.��/������ก�6WF=.>���3ก��8409/G����	3� �	
82���4HK��/����ก����2�389/
���	ก���กg6<=.�F9 ��,-.<..�KX�4�กg6��6���<=.�F989/<.�����0���,.P�3��.�2��3���/2>���
�<.�
��ก��	3�ก9K0�4��.30��;�ก���กg6<=.�F9 

3. �K0�4��.30��.30����
��/66 (Systemic Random Samping) 2�ก6�X�	��3�,-.��ก��	3� 
8409/G����	3�A	-��
�ก9K0�4��.30�� ��=.�A�
��.6;63��3.��<=��0��ก����2�3;�=ก9K0�4��.30���>�P�;�=
WF=�ก��.���,-.<..�KX�4;�ก��;�=<=.�F990����=� 1 ���7��� 
 4. ��7���3 ��� ��9� AKก���2��A��H���Kก��;��7,.�กK�?������ �.�. 2554 A	-��
���-�G���0��
<.���ก��	3�ก9K0�4��.30��A	-WF=�ก��.� 89/ก9K0�4��.30��9����3��3.�.�KX�4;�=�กg6<=.�F9  
G73W0��ก����/���ก�6.�2��3���/2>���
� 
 5. WF=��2�3�	
82���4HK��/����<.�ก����2�3 ��/G3���A	-2/P7=��62�กก����ก��8ก0ก9K0�
4��.30�� 89/7>�����ก���กg6<=.�F9G73WF=��2�3��	3����7	3�;��=.���	3�A	-2�7P�=��
���7�0����,-.;�=
ก9K0�4��.30��4.6866�.6H�� ;�=��9�;�ก��A>�866�.6H����/��Q  30 ��A	  2�ก��
��>�
866�.6H��A	-P7=��4��2�.6������6H=��ก0.��>���������/�� 
 

ก����
!���'0#���/� ��$1�����������ก������� 
 ก����ก�����
��	
 �	ก��������/��<=.�F9G73G��8ก���>���g2�F� 7���	
 
 1. <=.�F9�0��6K��9 �d4�ก���ก��7,-����,-.�7,-�8.9ก.:.9�;��/3/8�ก<.�ก9K0�
4��.30�� ������/��<=.�F9G73;�= �H�4��������Q�� (Descriptive Statistics) P7=8ก0 �0�����H	- �=.39/ 
�0��@9	-3 89/�0���6	-3��6���4�_��  
 2. ������/���������������/��0���122�3?�3;�4��6K��9 P7=8ก0 .�3K ����� W9���dA��s
A��ก����	3� A����4�40.ก��7,-� �9��4��4� 89/�122�3?�3�.ก6K��9 P7=8ก0 �0�;�=20�3A	-P7=��6   
ก���<=�H�����,-.�7,-�8.9ก.:.9� �9����.6���� �9���K��� �9����=���1XX� �9����,-.�89/ก�2ก��� 
ก�6�d4�ก���ก��7,-����,-.�7,-�8.9ก.:.9�G73;�= Binary Logistic Regression A	-�/7�6������,-.��-� 
95% CI 
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ก��-���ก20$��	�#��ก������������ 
 ก����2�3���
��	
P7=��6������g��.62�ก�Q/ก���ก����2��Q�2��3����ก����2�3  
�/7�66�QV�4��ก�� �Q/�3�6�9���4�� �����A3�9�36F��� 89/��,-.�2�กก9K0�4��.30��A	- 
�<=��0����2�3;����
��	
��
���ก��	3���3.�3K4->�ก�0� 18 �B O�-���
�WF=A	-3��P�06��9K��4�?��/ WF=��2�3 
A>������,.<..�KX�42�กWF=�ก��.���ก��	3���3A	-HFก�K0��<=��0��ก����2�3G73�	
82���4HK��/����89/
��/G3���<.�ก����2�3 ก��4.6��6��,.�y����ก���<=��0��ก����2�3���
��	
2/P�0�	W940.ก9K0�4��.30�� 
<=.�F9A	-P7=2�ก866�.6H��2/�กg6��
�����9�6 G73ก��9���
�����P�0�/6K�,-.-����กK9<.� 
ก9K0�4��.30��89=��กg6866�.6H��A	-ก�.ก<=.�F989=�P�=;�ก90.�A	-�|7��7��7 �กg6P�=G73P�0�	;��
�<=�H��P7=�.ก2�กWF=��2�389/�.ก���2/HFกA>�9�3A��A	�9��2�กW9�����2�3P7=��6ก��4	������W38��0
.30���=.3 1 �B ก���>�<=.�F9P�.?����3��,.�W38��02/�>����.?�����;���������ก���A0���
�  
 
 
 
 
 
  

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 




